istere

GENERAL KNOWLEDGE - GENERAL KNOWLEDGE

Question No.1

Phulpati is an exclusive dance form performed by unmarried girls of Madhya Pradesh on
the occasionof
lgg?rqi%rrrwu%mﬁraqﬁa@aa@ﬁm‘rgm o STaER WR fohar A arelt e fafrE 77 81
(A) O Bhagoria Haat festival

JIRAT g1 JglTa

(B) O Dussehra festival
TRIEY HEtd
(C) O Holi festival (Correct Answer)

gl Fgtea

(D) O Khajuraho festival (Chosen option)

G Al

Marks: 1.00
Bookmark

Question No.2

For development of agriculture and allied sectors, Integrated Cooperative Development
Project scheme was implemented sincetheyear
PN 3R Taig &3 & faepra & foig, qﬁﬁﬂmﬁﬁzﬁmqﬂuﬁmzﬂwa& 9 AR T
TS o
(A) O 1994-95 (Correct Answer)
1994-95
(B) © 1990-91 (Chosen option)
1990-91
(C) O 1998-99
1998-99
(D) O 2000-01
2000-01

Marks: 1.00
Bookmark

Question No.3

During National Movement “Jhanda Satyagraha’campaign was organised in
district of Madhya Pradesh.
T SHTaler 2 2R "SieT e SH A A d oo d amifSe e

Tl
(A) O Rewa (Chosen option)
dar

(B) O Jabalpur (Correct Answer)

Marks: 1.00
Bookmark






STEIeTqR
(C) O Bhopal
iare

(D) O Satna
BGEI

Question No.4 Marks: 1.00

Bookmark
Which cricketer from Madhya Pradesh in 2018, broke 24-year old world record by
smashing 267 runs on first class debut?

2018 # Heg uder & fohd fohaher = vrum Soft S WR 267 A a1 24 d1et AT fagy Rl dter?
(A) ©O Amol Mazumdar (Chosen option)

AN HSHGR
(B) O J.P.Yadav

St areg

(C) O Ajay Rohera (Correct Answer)
3o AT

(D) O Rishabh Pant
R U

Question No.5 Marks: 1.00

Bookmark
SPARSH Abhiyan project of Madhya Pradesh state is related to:
e eI Iy ohl WLl At ulkatsrr fehas dsifda 82

(A) O Health insurance at affordable prices to autism, cerebral palsy, retardation and
multiple disability

T, ERsTet UTed, HedT 3R g feeaiar & forg Tt hival tr @y s
(B) O Prevention of Disabilities and Rehabilitation measures for Person with
Disabilities (Correct Answer) (Chosen option)
Reain aafwral & forg fAeraiar ok gata sural &Y dwrums
(C) O Marriage Incentive Scheme for the poor

TR & forg faars uicare= aren

(D) O Enable Person with Disabilities have better access to education which will
empower them to be independent
37e7H cf<hal at fAeM gk ggan & forg Safhdl ol G&m a1 [Oeg af saAfsR g4 &
fow g3+ 8t 9o

Question No.6 Marks: 1.00

Bookmark
Pandit Bhimsen Joshi was associated with:

gfea WiHa sisft q Feifad o

(A) O Writing the Novels
Ig=aTEl i feram
(B) O Sports
e

(C) O Classical Dance
T T

(D) O Classical Music (Correct Answer) (Chosen option)




ey T@ifla

Question No.7 Marks: 1.00
Bookmark
Who is credited with being the Chief architect of Taj Mahal?
JTSTHES & IR ARIhR 8 T 9 e fEam Sram &2
(A) O Ustad Ahmad Lahori (Correct Answer)
IS 3gHE ATgY

(B) O Mukrimat Khan
qRRAd @

(C) O Mohammad Hanif
HgHE g1

(D) O Ismail Khan (Chosen option)
SIS 9T

Question No.8 Marks: 1.00
Bookmark
In September 2020, Madhya Pradesh Government during its 5th virtual cabinet meeting
decided to reintroduce which scheme to provide nutritious and quality food to
underprivileged people at a subsidized rate?

fdeR 2020 Y, 797 UST TRAR A 7T 5T SMHRA hfere S & SR Sgard AR ohl A
& R Gif¥R ofR Uy ST IUEY e hl ATSTT i fthe & [ et T thaar frar?

(A) O Deendayal Antyodaya Rasoi (Correct Answer) (Chosen option)
EFeaTe sicuiey v

(B) O Phal Kshetra Vistar
el &3 faeR

(C) O Rashtriya Krishi Vikas Yojna
AL Sl faerr ate

(D) O Sabzi Kshetra Vistar
et &5 fawR

Question No.9 Marks: 1.00
Bookmark
Which state has become the first in the country to offer jobs on the basis of newly
approved (Common Eligibility Test) CET by National Recruitment Agency (NRA)?
PIH-I1 T AL T ot (TAIMRY) gRT A9 AT (FHA grdr uier) Hséh o SaR R
Hrenst & TTeT =T hT UgT IS I TRIT 872
(A) O Kerala
I

(B) O Tamil Nadu (Chosen option)

(C) O Uttar Pradesh
ITR &

(D) O Madhya Pradesh (Correct Answer)
qeq U2A

Question No.10 Marks: 1.00
Bookmark




Which lady from Madhya Pradesh was crowned with Mrs. India 2018 title in New Delhi?
He U <ht fohe Afger ot 78 oot 7 st fear 2018 o fame & waren mar?

(A) O Divya Patidar Joshi (Correct Answer)
R aréier sisft

(B) O Radhika Tejpal
feYehT deTUTet

(C) O Avantika Srivastava (Chosen option)
Srdifaenr sharaa

(D) O Kajol Bhatia
FISTe e

Question No.11 Marks: 1.00

Bookmark
Which film has been awarded with the Best Feature Film Award at 3Indian International
Film Festival of Boston-2020 based in Boston, USA?
fohd fthert &l S, quay # ¥ It YRR SR fthed Aglcdg des-2020 # 9498 iR
fher REAR @ =T fohar mam 82

(A) O Kakori (Chosen option)
PR

(B) O Kanha
gt

(C) O Kaliyug

(D) O Kaanthi (Correct Answer)
it

Question No.12 Marks: 1.00

Bookmark

What is the other name of Sahyadri Range?
RIS IST ehT 31 =114 T 872

(A) O Shivalik Range
R

(B) O Lesser Himalayas
AT

(C) O Eastern Ghats (Chosen option)
gt ae
(D) O Western Ghats (Correct Answer)
121 [

Question No.13 Marks: 1.00

Bookmark
The Aishbagh Stadium in Bhopal is associated with which of the following sports?

9iuret § UREmT Rfeaw Feferfaa d @ fhg @ 9 Tefad 82
(A) O Cricket (Chosen option)
fohahe

(B) O Badminton
JefieT

(C) O Hockey (Correct Answer)




(D) O

gihr
Football
PIEIC]

Question No.14

Who among the following women was born in Indore, Madhya Pradesh and has been a

captain of the India Women's cricket team?

ffafea afgemst § @ i 4R, Aeg udyr 7 St off 3R WRd Afger fehahe &9 & sved™ @1 82

(A) O
B) O
© O

(D) O

Gargi Baneriji

Anjali Sharma (Chosen option)

3fifer et

Sandhya Agarwal (Correct Answer)
T T

Shobha Pandit

T ufea

Marks: 1.00
Bookmark

Question No.15

India, observes Martyrs Day every year on which date?

uRd # ufd avf fohg arie & rgie g 7= S 82

(A) O
(B) O
€ O

(D) O

30 January (Correct Answer)
30 STt

15 April
15 da

2 June (Chosen option)
25

2 October

2 ISR

Marks: 1.00
Bookmark

Question No.16

Which dance is the central theme of stories in Bhagavat Purana?

fArfafaa & & siF-a1 7, siTad 107 it srgif=at & ge fawg w semRa 82

A) O
(® O
©) O

(D) O

Manipuri

Kuchipudi (Correct Answer)
Sattriya

i

Mohiniyattam (Chosen option)
wifeetorgd

Marks: 1.00
Bookmark

Question No.17

Name the country where the IPL 2020 Tournament was held.

Marks: 1.00
Bookmark




39 320 T ATH Id13Y STgi AEUIger 2020 gAfHe smaifSia forar mar?

(A) O Malaysia
IR

(B) O Zimbabwe
fSrvamed

(C) O Srilanka
sfietenr

(D) O UAE (Correct Answer) (Chosen option)

Question No.18 Marks: 1.00
Bookmark
Where is Pench National park situated?
U9 IER IeH Fel A 8?2
(A) O Morena and Sagar
AT 3R IR
(B) O Seoni and Chhindwara (Correct Answer) (Chosen option)
R ofik Bearet
(C) O Sagar and Chhindwara
IR 3R feearer

(D) O Chhatarpur and Morena
BAGR 3R AT

Question No.19 Marks: 1.00

Bookmark
Which Indian player was the first sportsperson from Madhya Pradesh to win a medal at
the Asian Games?
UIRTaTS Well # Uceh Sfia- aTell AT ST Ugell YR [aTS! i AT?
(A) O Sakshi Malik (Chosen option)
Greft Aferen

(B) O Varsha Varman (Correct Answer)
aut g

(C) O Shreyasi Singh
S &g

(D) O Shagun Chowdhary
I e

Question No.20 Marks: 1.00

Bookmark
Who among the following is one of the six founding members of HCL and has been a
recipient of Padma Bhushan Award in 2011?

fefafed 7 @ o goiiva & ©: 9¥ue gl | 9 o ¢ ok 98 2011 S g7 391 REhR
G oft grfaa fohar man 82
(A) O Shantanu Narayen
LMdg AR
(B) O Ajai Chowdhry (Correct Answer)
31t Tt

(C) O Ajay Banga (Chosen option)




3{ST ST
(D) O Sanjiv Ahuja
Goilg argst

GENERAL HINDI - GENERAL HINDI

Question No.1 Marks: 1.00
Bookmark
‘I T Tt IfY e -4 &2
(A) O &t +anfe
(B) O 3+ 3mfe
(C) O 3T+ 37

(D) O sfa + anf& (Correct Answer) (Chosen option)

Question No.2 Marks: 1.00
Bookmark
fafR o1 faudiarele e ghm?
(A) O fAsm

(B) O 3R (Chosen option)

(C) O ywhr2r (Correct Answer)

(D) O wa
Question No.3 Marks: 1.00
Bookmark
‘Taofied & g9aTH gd’ ufth § hi=-T 3rciehR 87
(A) O gHeh 3ciehR
(B) O =9 3feiehR (Correct Answer)
(C) O TUah 3iciehR (Chosen option)
(D) O IrgUTH 37cichR
Question No.4 Marks: 1.00
Bookmark

‘ITTUEl TS AT




TR i Uchs ST,

grg It ahreft AdTS

IWRI<h Ufth | &hIH-971 39 87

(A) O sraE

(B) O e T4 (Correct Answer)

(C) O Srga

(D) O % 3™ (Chosen option)

Question No.5 Marks: 1.00
Bookmark
fAfafad faemedt d & ‘st 381 g1 HgTer o1 oram 31ef 82
(A) O hlY Uehe AT
(B) O ¢iardsr
(C) O =1 gt g1 (Correct Answer) (Chosen option)
(D) O a9 @« gl
Question No.6 Marks: 1.00
Bookmark
A= d @ g 9dH9H I ST ISTEI0T hiF-4T 87
(A) O i r=di ol Ugr @l 81 (Chosen option)
(B) O dg Wl T U
(C) O a8 Y&ieh U
(D) O g T =Rt &1 (Correct Answer)
Question No.7 Marks: 1.00
Bookmark

4, S @ g ohmRn: gafgar eree & -

(A) O ds, s g d1ar

(B) O




ATdT, ASet 9 O
(C) O Us, Ardr g dASet!

(D) O =<, AraT a 9 (Correct Answer) (Chosen option)

Question No.8
o <ree & “a1TS’ T vk e g &7
(A) O TRk (Correct Answer) (Chosen option)
(B) O &g
(€) O i
(D) O derd

Marks: 1.00
Bookmark

Question No.9
= § @ pi=-a1 Ues ‘Giw’ o yafaar e 87
(A) O 4131 (Correct Answer) (Chosen option)
(B) O e
(C) O st

(D) O groft

Marks: 1.00
Bookmark

Question No.10
fohr <1 <l T U @ g8 82
(A) O weer (Chosen option)
(B) O Srmefta

(C) O 39

(D) O uf&a (Correct Answer)

Marks: 1.00
Bookmark

Question No.11

Marks: 1.00




71 7 @ go] 9fY o1 HI-T7 Tk 10T T8 87
(A) O 3w

(B) O =wmEmEm

(C) O T&f¥ (Chosen option)

(D) O =ifas (Correct Answer)

Bookmark

Question No.12 Marks: 1.00
Bookmark
T g arerT & ol Tep <rec 1 ghm?
(A) O aifem
(B) O se&
(C) O a1ge (Correct Answer) (Chosen option)
(D) O rga-ta
Question No.13 Marks: 1.00
Bookmark
gt <l gf® & -7 2eg HEl 82
(A) O 99z (Chosen option)
(B) O g
(C) O AR
(D) O T4z (Correct Answer)
Question No.14 Marks: 1.00
Bookmark

HER T o forg 98! ggravT & -
(A) O Hg WA

(B) O g & et =T (Correct Answer) (Chosen option)

(€©) O Hg gefrr




(D) O HggE

Question No.15
feim, aam onfe & Rur foF Srset &1 &9 uRad= gt SirdT €, & T gt 87
(A) O w5
(B) O it
(C) O fa=rst (Correct Answer) (Chosen option)

(D) O difiren

Marks: 1.00
Bookmark

Question No.16
"Hferen’ ot fauRidreden sreg T ghmm?
(A) O fazma
(B) O aifdreniar
(C) O gt

(D) O 31eg (Correct Answer) (Chosen option)

Marks: 1.00
Bookmark

Question No.17

ST 3 ST 81 & feig Yeh 21z o ghm?
(A) O Srema

(B) O st

(€) O srgof

(D) O ereud (Correct Answer) (Chosen option)

Marks: 1.00
Bookmark

Question No.18

mfafeT A qur T § -

Marks: 1.00
Bookmark




(A) O Zga ¥
(B) O 3remft 9\ (Correct Answer) (Chosen option)
(C) O fgaa™

(D) O dg2y IHH

Question No.19
o & 1991 U T TR I 82
(A) O warge (Correct Answer) (Chosen option)
(B) O uiterm we=

(C) O TIuTd

(D) O g

Marks: 1.00
Bookmark

Question No.20
o) B 2 @ - g T A 27
(A) O #HeAA
B8) O a1
(C) O wiHRen

(D) O @ifdt (Correct Answer) (Chosen option)

Marks: 1.00
Bookmark

GENERAL ENGLISH - GENERAL ENGLISH

Question No.1

Fill in the blanks with the appropriate determiner in the given sentence:
student in the Yoga camp has to take up at least two yoga sessions
were demonstrated yesterday by Master Trainer.

(A) O Each, this, the
(B) O Most, this, the

(©) O All, this, the

Marks: 1.00
Bookmark




(D) O Every, that, the (Correct Answer) (Chosen option)

Question No.2

Marks: 1.00
Bookmark

Choose the correct option for the sentence written in error below:

We live in a age when education plays a vitally role in shaping a child’s future.

(A) O We live in an age when education played a vital role in shaping a child's future.

(B) O We live in an age when education plays a vital role in shaping a child's future.

(Correct Answer) (Chosen option)

(C) © We live in an age when education plays a vital role in shaping a child's futuristic.

(D) O We live in an age when education plays a vital role in shapely a child's future.

Question No.3 Marks: 1.00

Bookmark

Fill in the blanks with the suitable tense in the given sentence:

We the window while we cricket.

(A) O had broken, played

(B) O were breaking, were playing

(C) O broke, were playing (Correct Answer) (Chosen option)

(D) O break, played

Question No.4 Marks: 1.00

Bookmark

Fill in the blank with the correct option in the given sentence:
Lisa, my elder sister is always worried about her

(A) O appearment

(B) O appearing
(C) O apprearence
(D) O appearance (Correct Answer) (Chosen option)

Question No.5 Marks: 1.00

Bookmark

Fill in the blanks with the correct pronoun in the given sentence:

Listen to he says before speak.




(A) O which, her
(B) O what, you (Correct Answer) (Chosen option)
(C) O what, him

(D) O you, what

Question No.6

Marks: 1.00
Bookmark
Choose the correct option to fill in the blank in the given sentence:
Mother gave away a of clothes to a charity organization.
(A) O stack (Correct Answer) (Chosen option)
(B) O complex
(C) O row
(D) O flock
Question No.7 Marks: 1.00
Bookmark
Choose the correctly punctuated sentence.
does professor smith teach french or italian on monday nights
(A) O Does Professor Smith teach French or italian on Monday nights.
(B) O Does professor Smith teach french or italian on monday night's?
(C) O Does Professor Smith teach French or Italian on monday's nights.
(D) O Does Professor Smith teach French or Italian on Monday nights? (Correct
Answer) (Chosen option)
Question No.8 Marks: 1.00
Bookmark

Choose the correct option that is similar in meaning to the word in bold.
The doctor said,’Lack of sleep or too much sleep can trigger a migraine.”

(A) O Encounter

(B) O Provoke (Correct Answer) (Chosen option)

(C) O Block




(D) O Blunt

Question No.9

Marks: 1.00
Bookmark
Fill in the blanks with the suitable article in the given sentence:
— Smith family went on _ European tour for __ vacation during _ summer
holidays.
(A) O The, a, a, the (Correct Answer) (Chosen option)
(B) O A an,the, a
(C) O A, the, the, a
(D) O The, an, a, the
Question No.10 Marks: 1.00
Bookmark
Fill in the blank with the suitable preposition in the given sentence:
| jumped ____ the opportunity when it was offered me.
(A) O into, at
(B) O at, to (Correct Answer)
(C) O for, for (Chosen option)
(D) O to, for
Question No.11 Marks: 1.00
Bookmark
Fill in the blanks with the suitable preposition in the given sentence:
The Principal stressed the importance ____ being regular and punctual to school.
(A) O for, on
(B) O with, on
(C) O on, of (Correct Answer) (Chosen option)
(D) O on, for
Question No.12 Marks: 1.00
Bookmark

Fill in the blanks with the appropriate modal in the given sentence:
| think that you at least try: you

surely find a way to come out of this horrible




situation.

(A) O can, could
(B) O could, can
(C) O can, would

(D) O should, will (Correct Answer) (Chosen option)

Question No.13

Choose the correct option.
‘Inept’ is most opposite to:

(A) O Competent (Correct Answer) (Chosen option)
(B) O Gauche
(C) O Clumsy

(D) O Bungling

Marks: 1.00
Bookmark

Question No.14

Fill up the blank with the correct option to complete the sentence:

| do not need to finish writing this proposal immediately, ?

(A) O should I (Chosen option)
(B) O do I (Correct Answer)
(C) O don'tl

(D) O shouldntl

Marks: 1.00
Bookmark

Question No.15

Choose the option that has all the three words spelt correctly.

(A) O Firebrend, formal, forgotten

(B) O Gamble, ghost, gregarious (Correct Answer) (Chosen option)

(C) O Formalty, glitter, galaxy

(D) O Forethought, theif, forlorn

Marks: 1.00
Bookmark




Question No.16 Marks: 1.00

Bookmark
Choose the phrasal verb that best fits the blank in the given sentence:
The convict from his prison cell.
(A) O broke through
(B) O broke down
(C) O broke off
(D) O broke away (Correct Answer) (Chosen option)
Question No.17 Marks: 1.00
Bookmark
Choose the correct option to fill in the blanks in the given sentence:
Anita amazes me. She ___ gossips about anyone. She and her friends are ___ late to
class.
(A) O sometimes, seldom
(B) O usually, sometimes
(C) O always, ever
(D) O never, rarely (Correct Answer) (Chosen option)
Question No.18 Marks: 1.00
Bookmark
Fill in the blanks with the suitable article in the given sentence:
__moonis ___only satellite of ___ earth, while __ biggest planet, Jupiter has twelve
moons.
(A) O The, the, no article required, the (Correct Answer) (Chosen option)
(B) O The, a, a, the
(C) O The, the, an, a
(D) O A, an, the, the
Question No.19 Marks: 1.00
Bookmark

Choose the correct option to fill the blanks in the given sentence:
He __ saved the boy from drowning ___ helped him find his parents.




(A) O not only, but also (Correct Answer) (Chosen option)
(B) O for, to
(C) O so, that

(D) O either, or

Question No.20

Choose the correct word to fill in the blank in the given sentence:
On the weekend we visited an art which | really liked.

(A) O exorbitant
(B) O exhabit
(C) O exhibiting

(D) O exhibition (Correct Answer) (Chosen option)

Marks: 1.00
Bookmark

GENERAL MATHS - GENERAL MATHS

Question No.1

A basket contains 5 red, 2 black, and 5 white balls. If 2 balls are drawn at random from
the basket, what is the probability that both are red?
Qeh Siehdt B 5 7T, 2 Shlelt 3R 5 The 716 81 afe 2 7l ot Tiehdt § ATgfeedeh ©U ¥ fHehralT ST 8,
at e TRyeRart & foh e et 82
(A) O 4/33
4/33
(B) O 5/33 (Correct Answer) (Chosen option)
5/33
(C) O 33/4
33/4

(D) O 33/5
33/5

Marks: 1.00
Bookmark

Question No.2

Let C be a circle with radius. If © be the angle of a sector in degrees, then the area of the
sector is:

A1 ok C, B & a1 gens g1 . af 6 fft & s &1 ahton €, ot fsaee & &thd &:

A) O ) )
—— X " |(Correct Answer) (Chosen option)
360

Marks: 1.00
Bookmark




——xm”
360

(B) O 360

360

©O pa

© 0
2 %360
I

9 «360

ar

Question No.3 Marks: 1.00
Bookmark
Solve:
1/5-1/11=?
g dhifSig:
1/5-1/11=?
(A) O 6/5
6/5
(B) O 6/55 (Correct Answer) (Chosen option)
6/55
(C) O 55/6
55/6
(D) O 5/6
5/6

Question No.4 Marks: 1.00

Bookmark
A rectangular carpet has an area of 120 sq. m and a perimeter of 46m. The length of its
diagonal is:

Uch SR Tl bl &l 120 T Hiex 3fR uR|Tg 46 Ht 81 35Tk faehol i <18 &

(A) O 16m
164

(B) O 20m
20+

(C) O 15m
154t




(D) O 17m (Correct Answer) (Chosen option)
17+

Question No.5

The perimeter of the triangle with vertices (4,0), (0,0), (0,3) is:
2ftwt (4,0), (0,0), (0,3) aTct Gek AT T ulkey B:

(A) O 7+v5cm
7+v 53

(B) O 7cm
79t

(C) O 10cm
109+t

(D) O 12cm (Correct Answer) (Chosen option)
123+t

Marks: 1.00
Bookmark

Question No.6

The average age of 10 people is 14. What will be their average age if a new person of
age 36 joins them?
10 <NTH <t 3fErd 3mg 14 9 81 af 36 a <l 31 ohT Yo 14T A<k I9ch WTY AMAS gidT ¢ a
ITeh! St Sy T geit?
(A) O 50
50
(B) O 25
25
(C) O 15
15

(D) O 16 (Correct Answer) (Chosen option)
16

Marks: 1.00
Bookmark

Question No.7

Which one of the following is NOT TRUE?
fAefafed 4 @ o9 g T8 82
(A) O There does not exist a real number which is both a rational number and
irrational number.
U} arafdes G faed = 8! § ST Ueh URET I $fiR STaRyy I i1 |
(B) O Aninteger is not an irrational number. (Chosen option)
Qeh gUTieh Qeh STURAYT U&= 181 &
(C) O Every rational number is an integer. (Correct Answer)
U g\ ST Uah guifas 8l

(D) O Every natural number is a rational number.

YAk UTehfdich AT Ueh URAY H&T 8|

Marks: 1.00
Bookmark

Question No.8

A cube has a volume of 8 cubic centimeters. Find its surface area.

Marks: 1.00
Bookmark




Qeh O+ Rl I 8 T HEIHIeR 8| SHhT g8 &5thel ATd i

(A) O 48 cm? (Chosen option)
48 T2

(B) O 24 cm? (Correct Answer)
24 9fi?

(C) O 24cm3
24 93

(D) O 48 cm3
48 9fi3

Question No.9 Marks: 1.00
Bookmark
In a library 30% books are in English, 50% books are in Hindi and the remaining 500 are
in other languages. What is the total number of books in the library?
U QEaohierd | 30% Jedch 3ilistt 7 §, 50% gdch fadl & ¢ 3fiR W 500 =7 {romati & g
Y&denTerd H &dehl chl ghel ST fohaiT 872
(A) O 2555
2555
(B) O 2750
2750
(C) O 2500 (Correct Answer) (Chosen option)
2500
(D) © 2700
2700

Question No.10 Marks: 1.00
Bookmark
If 3 is the least prime factor of a number A and 7 is the least prime factor of number B
then the least prime factor of A + Bis:

gfe I=r A &) a9 BT TS TT 3 g 3R 9T B Y 9 S ssu I 7 ¢, A + B
& Y B TS T=AT &
(A) O 5
5
(B) O 3
3

(C) O 2 (Correct Answer) (Chosen option)
2

(D) O 10
10

Question No.11 Marks: 1.00
Bookmark
Find the graph of the polynomial.
ax2+bx+c,az0
FgUS T UTh AT i
ax2+bx+c,az0
(A) O Circle
q




(B) O Straight line
TR @l
(C) O Single Point

Yehet foig

(D) O Parabola (Correct Answer) (Chosen option)
R

Question No.12 Marks: 1.00

Bookmark

The area of a square of side x units is 16 square units. Which of the following quadratic
equation represents this statement? . ‘
SIT X 3ehTAT Tt Yok I ST &5thel 16 I gehrsal 8| FwfoifEa & & si=-a1 fgara a+ftenor 39
Y ot FAlUa Frar g2
(A) O 4x=16

4x =16
(B) O x2 =16 (Correct Answer) (Chosen option)

x2=16
(C) O x=4
x=4
X

(D) O

N N 1

8
8

x

Question No.13 Marks: 1.00

Bookmark
Refer the below graph and identify in which over are the maximum runs scored?

Y

-
QD
i

¥ +

Runs——»

== R W & 0 3 - o ©

I o0 0 Iv v ViVEIVIIIIX X XI X
Over ———»

»
X

o




e fou U 7Tk ohl 3 SfRR uga fob fohg SR A Taffdes w3 s9?

Ya

11t
101

i

I I M IV V VIVIVIIIX X XI Xu¥*
Over ————»

o

A) OV
Vv
®) O i
I
©) O v
\%

(D) O VI (Correct Answer) (Chosen option)
VI

Question No.14

Which of the following is a linear polynomial?

fmfafea & @ wia-a1 Ues IR&en sigue 82
AO 1

x—1

2x+'\f§

(B) O 0x+2
Ox+2

© O | 2¢4./3 |(Correct Answer)

2.1{""\,"'5

(D) O 3x - 6y + xy (Chosen option)
3x — 6y + xy

Marks: 1.00
Bookmark

Question No.15

=3 =B
Find the multiplicative inverse of —x ﬁ

Marks: 1.00
Bookmark




_73><_1—15 o1 (U Ul F7d e

(A) O 15/77
15/77

(B) O 77/15 (Correct Answer) (Chosen option)
77/15

(c) O -77/15
-77/15

() O -15/77
-15/77

Question No.16

In a quadratic equation if b2 < 4ac then the equation has:
Ueh fguma gefieneur & afe b2 < 4ac & af gftenor o
(A) O No real roots (Correct Answer)
&S arfae g 8 gl
(B) O Two equal real roots (Chosen option)

<Y GHE arkdfdeh e 6|

(C) O Exactly one real root
Jad | Ueh IR g g

(D) O Two distinct real roots
& O arafdes 7 81

Marks: 1.00
Bookmark

Question No.17

ax+by+c =0; a,x+b,y+c, =0 be two equationssuch that

b

a
L+ Thenthe comrespondinglines:
d, 3

aader aqx+by+c =0, a,x+b,y+¢c, =0 smuFER B
b

ol
%oy

— dI I7d e
) 2
(A) O Are non-intersecting parallel lines
R-ufaesed MR @S &
(B) O Intersects at more than one point
T & 1A fomg R ufa=de et 81
(C) O Coincides
Gardt g1

(D) O Intersect exactly at one point (Correct Answer) (Chosen option)

8tk Uah farg wR ufade et &1

Marks: 1.00
Bookmark




Question No.18

The midpoint of the line joining two points (a, 2a) and (3a,-4a) is:

I fgait (a, 2a) iR (3a, -4a) ! e aTelt T@T o1 AeAfeg &
(A) O (2a, -a) (Correct Answer) (Chosen option)

(2a, -a)
(B) O (a,-2a)
() O

(D) O

Marks: 1.00
Bookmark

Question No.19

Set of natural number is a subset of:

UTchfdieh AT T YT ST TeIT B

(A) O Set of odd numbers
T St a1 de

(B) O Set of even numbers
G GEATSAT BT W

(C) O Set of composite numbers (Chosen option)
WIS HT3it ohl T

(D) O Set of real numbers (Correct Answer)

areafaes d&arsil &1 de

Marks: 1.00
Bookmark

Question No.20

A clock shows a time 40 minutes faster than the actual time in 24 hours. Monday

morning 6 am clock was adjusted to the actual time. The next day if the clock is showing

7 pm then find the actual time.

U Sl 24 6¢ H IRdfdes 999 ol o 7 40 e ds1 a5a gifdt g1 9iHar urd: 6 St gt ol
IRAfde 9T R FHIITSId fohaT T ) STt & afe gt 9w 7 st i @1 8 af arafae a9g

1 He

(A) O 8pm
i 8 ot

(B) © 6pm (Correct Answer) (Chosen option)
qig 6 It

(C) O 6.20pm
qig 6.20 Fof

(D) O 7.40pm
qig 7.40 gt

Marks: 1.00
Bookmark

GENERAL SCIENCE - GENERAL SCIENCE

Question No.1

It is a hot summer day. Rani wants to go out. Which type of dress material is
comfortable?

Marks: 1.00
Bookmark




it a1 e 81 I ST ST TTgd 81 fohd UehR & ahue Y Uik STRMEd gift?
A) O Polyester
UifeTgeex

B) O Silk
IE:ree

(C) O Nylon
TIA

(D) O Cotton (Correct Answer) (Chosen option)
Uty

Question No.2

Which scientist described his idea of evolution in the book "The Origin of Species"?

fohe aefae 7 “< RIS it TS geae J Igd & IR 7 370 fa=R o1 gui fora|
(A) O Thomas Malthus
UTAY AT

(B) O Charles Darwin (Correct Answer) (Chosen option)

ey Sifda

(C) O Lamarck
AT

(D) O Hugo deVries
RUSER]

Marks: 1.00
Bookmark

Question No.3

is the world’s most polluted river
g i gad ugfid 7 &1
(A) O Ganga River (Correct Answer) (Chosen option)
T T
(B) ©O Narmada River
FHar 7

(C) O Cauvery River
TR S

(D) O Brahmaputra River
SR A

Marks: 1.00
Bookmark

Question No.4

What would be the number of moles of O, required for the complete combustion of one

mole of propane (C3Hg) to form CO, and H,0?

CO, 3R H,0 S & 1 51 (CqHg) 3 Teh HieT 3 qof <a g Siasaes O, & wiefl i1 T

T gif?
(A) O 11 moles
11 8

(B) O 5 moles (Correct Answer)
5 A

(C) O 8 moles (Chosen option)

Marks: 1.00
Bookmark




8 Hiel

(D) O 4 moles
4 gret

Question No.5 Marks: 1.00
Bookmark
The number of vibrations in one second is called:
Ueh Ycha T chuH| chl TAT ahl ehgl ST &
(A) O Period of vibration
g i safd
(B) O The measure of the energy transferred from one particle to another.
Qeh hUT I GO | WHIAR §8 SHelf ol ATY|
(C) O Amplitude of vibration
ehU ehl STTATH
(D) O Frequency of vibration (Correct Answer) (Chosen option)
@hue i

Question No.6 Marks: 1.00

Bookmark
About 2.0gm of solid rock salt is taken in a test tube and to it is added about 1.0ml of
conc. HySO4. The gas ‘X' liberated has an irritating smell and turns moist blue litmus to

red. Identify the gas X.
ST 2.0 UT 31 JeT 7Heh Yob URE-eft # foram 7 ofik 39# 1.0ffeh Fifea H,S0,, ter mam|

s 19 ‘X’ I Uk 3T 11y & $iR g 79 et folend &l arer § aee &t g1 79 X’ ggan=g|
(A) O HCI (Correct Answer)
HCI
(B) O H,S
H,S
(©) O SO0;
SO,
(D) O SO0, (Chosen option)
S0,

Question No.7 Marks: 1.00

Bookmark

Name the group of organism which commonly causes infectious diseases.
39 Sfig GG T A1 FdT¢ S AT HehlHeh IR Sl hRUT §-dT 8
(A) O Only virus

haret fawToy
(B) O Only bacteria

hefe Sitary]
(C) O Only protozoa (Chosen option)

haet Tetetra

(D) O All the above (Correct Answer)

Sugh a3t

Question No.8 Marks: 1.00




Which part of the solar cooker is directly related to the greenhouse effect?

R GHens 1 hi-a1 fgwan e figrsy ua § defdd g?

(A) O The rectangular shaped box
JTIATRR HThR I fSaa

(B) O The black surface (Chosen option)
CARIRSC

(C) O The mirrors
iy

(D) O The transparent covering glass plate (Correct Answer)
ureft straror areht i &

Bookmark

Question No.9

Sandeep makes three complete rounds of a circular path of radius 25m.The
displacement and the distance covered by him are respectively:

1Y, 25 Hiex BT aTet Yeh et g o of 1 OR Terens ATl 8| I8k gIRT d <l 715 3t 3R
foremus smsr: A= €
(A) O 75mand75m

75 Y 3k 75 =t

(B) O 0 m and 150t m (Correct Answer)
0 # ik 150m it

(C) O 50mm and 50 m (Chosen option)
50m # efR 50 #t

(D) O 150mmand 0 m
1501 #t 3fiR 0 =t

Marks: 1.00
Bookmark

Question No.10

Identify the incorrect match.

SfRd A &t ugar &l

(A) O Chromatin material= nucleus
shrafes gt = Arfoen

(B) O Nucleus = bacteria (Correct Answer) (Chosen option)
A1fReR = Sfiarg

(C) © Smooth endoplasmic reticulum = detoxification
R StidRgeastIferar = fawgRor

(D) O Lysosomes = suicidal bags

AT = et Seft

Marks: 1.00
Bookmark

Question No.11

Two lenses of power +1.5D and -1.5D are placed in contact. What is the focal length of
the combination?

+1.5D 3R -1.5D &HdT & & o uch | 3@ 7Y § | Gt i thichd g T 82
(A) O Zero (Chosen option)

L
(B) O 3m

Marks: 1.00
Bookmark




3+

(C) O 1.5m
1.5

(D) O Infinity (Correct Answer)
3d

Question No.12 Marks: 1.00

Bookmark

Two solutions A and B are miscible and have a boiling point difference of 30°C.The
method used to separate them is:

2 faera= A ok B fgyofia & 8fik 393 sauHias & 30°

(A) O Sublimation
[

(B) O Evaporation (Chosen option)
ClNC]

(C) O Crystallization
foReeettenzor

(D) O Distillation (Correct Answer)
SATEHIA

Question No.13 Marks: 1.00

Bookmark
Every multicellular organism has come from a single cell. All such cells basically come
from

B Uch TghITAh SiIg Yehe chiTRIhT & 1T & | ULt Foft RIfARIT Hetd: 378 o7t &:
(A) O Animal tissue cells

Sig $dleh hifARIT
(B) O Cells multiply to grow into organisms

SIfRAATY TOT glenx Sfia o STt &
(C) O Plant tissue cells

UTY 3ddh chITRAhTY

(D) O Pre-existing cells (Correct Answer) (Chosen option)

udfarel sRfRYeBT

Question No.14 Marks: 1.00
Bookmark
Ampicillin is
e &
(A) O Adisinfectant
Ueh s

(B) O A vaccine (Chosen option)
ECICANCERIE)

(C) O An antiseptic
e qferieft (dérdfiean)

(D) O An antibiotic (Correct Answer)
e ufdsifae




Question No.15 Marks: 1.00

Bookmark
A block of 1,000kg is placed on a plane surface. Two boys apply a force of 100N each
horizontally on the block from the opposite sides. If the line of action of the forces is
along the same straight line, then select the CORRECT statement:
Ueh GHdT Fdg WR 1,000 T &1 Ueh We @1 71| & eiedh [udid ik @ ©e R afosi ®u d
A 100N T I &I & 1 AT St i fonar i 3, To <eft 3ar & a1 g, ot 98t e gy

(A) O The direction of the resultant force is vertically upwards

ot 51 it ferm Ieafer FuR 6 R B

(B) O The direction of the resultant force is vertically downwards

gRRuTrHt et I faer Ieafer =2 <t 3k 1

(C) O The net force acting on the block is zero (Correct Answer) (Chosen option)

TS R iR [F 9 YA 8

(D) O The net force acting on the block is 200N
WS R IR g a1 200N Bl

Question No.16 Marks: 1.00

Bookmark
What is the process of taking up a permanent shape, size and function called?

Qe WY 3MTepfd, MR 7R i STu-T <ht ifehar =m 872
(A) O Degeneration (Chosen option)

(B) O Diffusion
UarR

(C) O Dedifferentiation
AT} AT Tk GHMFT ST | g 371

(D) O Differentiation (Correct Answer)
fadem

Question No.17 Marks: 1.00

Bookmark
The work done by gravity depends on:
o & gIRT foha T s A iR AR e @

(A) O The path along which the object is moved (Chosen option)
ag U fole UR g% & =l ST 8|

(B) O The difference in vertical heights of the initial and final positions of the object
(Correct Answer)
a¥g &t urRfAe Sk sifas RAfaal it Heafer Farsal A siar

(C) O Nature of the surface along which it is moved

g ! Upfd [og iR a%g t Iamrn ST 8|

(D) O Inclination of the surface along which it is moved

g ol Yehld foTd TR a¥ ol TelTdT ST 8

Question No.18 Marks: 1.00

Bookmark
The mass of a body can be:
Ueh [ehTa bl gag|TH &Y GohdT &:

(A) O Positive and negative but not zero (Chosen option)




YTcHeh 3R FHUTcHe AifchT =T gl

(B) O Positive and zero
gTcHh 3R T

(C) O Only positive (Correct Answer)
thad Y-ITeHh

(D) O Positive, negative and zero
YTcHeh, U 3R T

Question No.19 Marks: 1.00
Bookmark
Four hydrocarbons, W, X, Y and Z are given below: W= Isobutane X= Isobutene Y= Ethane
Z= Ethene. Two of these compounds react with CI2 in the presence of sunlight to form
alkyl halides. Identify the two compounds.
IR gIESteae,W, X, Y 3R Z 12 g 1 &: W = 3eateged X = mgaisgém Y = gaF Z = gfi.
6 9 Y TifiTeh, GoehTael 8el1ss I o forg g o Uk &t IufRAfA 7 Clp & arer sifafohar aed
&1 &l gifitent ot ugaTHy|
(A) O XandZz
X3RZ

(B) O WandX
W 3R X

(C) O WandY (Correct Answer) (Chosen option)
WY

(D) O Yandz
Y3RZ

Question No.20 Marks: 1.00
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The first member of a series of organic compounds containing C, H and O is CH,0. What

is the functional group of this series?

C, H 3R O gk hrefch TifiTen] chl SjRaell T Ugell G CH,0 g1 39 ke o fehdTcreh Ig &1
8?
(A) O Keto group

Hrct 9
B) O Alcoholic group

Qcehigiferch THg
(C) O Aldehydic group (Correct Answer)

gfceemsfes e
(D) O Carboxylic acid group (Chosen option)

3T I8




